[rad™]

1do

Ratio to CMS

OdAg

10

1071

0.5

Rivet 3.1.10, = 3.1M events

8000 GeV pp Jets
_I T I T I T I T | T I T I I | T I '_
— AQ(jj) (pTlead > 1100) —
- ®m CMS E
- --G-- Herwig++ 2.7.1 default _|
__ --3-- Herwig 7.2.1 default _
— /’:W/ ]
E ’,::g:/ E
— ’:@:f’ [ | 7
L /@:’" u _|
_ LEHT ]
- - =
— . —
= :::/ e
— =
:I | | | | ' | | | | | -|_—
:I T T L T | T T T | T :
— Ao -
r \\\\\B"‘~-E\ t
B O . 7
L ~ :E\ _|

SR
~g
&1
1 1 1 1 " | " 1 1 1 | 1
2.5 3

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


